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1. Evaluate the limits: (%28 6%")

r2 — 3z — 10

lim —mm8—.

(a) lim ————
2

)

T=r2si b —
&) i tan(7zx)

20 sin(3z)

2. Find the derivative (¥&#) Z—y of the followings: (&% 64")
T
(a) y=e® - cos(3z).
(b) y=(z® +3z + 1)%.
(@ — tan(5z?).
(d) z2 + 3zy® + 2y = 2017.
3. Find the equation of the tangent line (#74%) to the curve y = 5z* + 4 at (-1, 9). (10%)
1
4. Find all extrema (#&4&) f(z) = z* — S 1 on the interval [0, 1]. (124)
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6. Evaluate the following integrals: (&2 6%)

(a) / (% . % 4 51:4) .

(b) / 322(a° + 9)°dz.

1 e:z;
de.
(C)/O 1+e""z

(d) /2xln(x) dz.






